P Converting Between Forms Name:

Find The factored form, vertex form, and standard form of each quadratic!

Enfer your matches here:
Set A SefB Set C SeftD Set E SetF Set G SetH
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A FO=x-2x-3 | L FQ=2x+BYx+d) | g POY=3(xe) 12

E_ B. P(x)=3x2+qu+3e 2 F(x) = (x+2)(x-4) ‘L’,‘ F(x)=-3(x+8)2+'-l8
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€ POQ=-3 - M 3. F(x)=-3(x+)x +12) ® £()=-2(x+7)"+8

D, F(x)=-2x"-28x-90 || W F(x)=-3(x-8)x-6) | = F(x)=(x-1)"-4
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E R -2x-8 | B R)=-2(+BYxe3) | N FO)=-20x+) +72

F Fx) =X + 8x + 12 6 £(x) = (x+1)Xx-3) 1 P = (x-1)" - 4

6. F)=2x-3x-90 | Th F0) = (x+2)x+6) } PO)=-3(x-7) +3
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H RO =-C-ax-1 || B RO=3xe2)x#6) | & FOQ=(erH) -4
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Converting Between Forms: Answer Key

Find the factored form, vertex form, and standard form of each quadraticl

Key

Standard Form

Factored Form

Vertex Form

A6,
B.8,
CH Y
D.. &
E2 w
F.7 -
G5

H3 T

A. F(x)=x2—2x-3

B. £(x) = 3x*+ 24x + 36

C. F(x)=-3x"+42x-H4

D. £(x) = -2x"-28x~90

E F(x)=x2-2x—8

F. £()=x"+8x +12

G. F(x)=-2x"-36x-90

H. £(x) = -3x"-48x~ 44
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6. F(x) = (x +1)X(x-3)

8. F(x) = 3A(x + 2)(x +6)

4 f(x)=-3(x-8)x~-6)

L F(x)=-2(x+5)Xx+9)

2. £(x) = (x+ 2)(x-4)

1. £(x) = (x+ 2)Xx +6)

5. F(x) =-2(x+I5)x+3)

3. F(x) =-3(x+4)(x +I2)

N PO =(x-1) -4

d R0 =30xH) - 12
3 PO =-3x-7)+3
® =207+ 8
w f)=(x-1)" - 9

SORG) = (x+H) - 4
N F)=-2x+9) +72

7 £(X)=-3(x+8) + 48



